SUBJECT: pathe  @histo_maiths

UNIT: Integers and Decimals

SANDHILL VIEW
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ACHIEVE ASPIRE ENJOY

oNes ? tenths hundredths

We say T ® 9
“nought point five two” : J
0 ones, D tenth and 2 hundredths

0+QI+Q1+0l+01+Ql+001+00l
=0+05+002

Comparing decimals \Whh the largest of 0.3 and 0.237

0.3 >0.23
There are. more counters n the furthest
comn to the left”

Ones o Tenths | hundredths

0.1 04

050 Comparing the values bath with

the same rumber of decimal
Ones ¢ Tenlts | hndedts | 023 i e
T compare the number of tenths
o LU ] and hundredths

One whole. spit into 10 parts makes tenths = O |
Ore tenth spit into 10 parts makes hundredths = 001
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Round to | sianificant figure

I

: 370 to |significant figure 1§ 400

| 37 to Isignificant figure 5 40 | Roundto the first non
I

I

I

37 to | significant figure is 4 2er0 number
037 to I signficant figure is 04
L 000000037 to | sigiicant figre §s 00000004
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SUBJECT: Maths

UNIT: FDP Equivalence

@whisto_maths

SANDHILL VIEW
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Spit into 10 parts
- 107 - 36°

L J

0 pe chart has 360°
so al FDP cakulations
are. out of 360

Spit into 2 parts
= 50/ = 180°

Spit into 5 parts
= A0¥ = TP

Represent equivalence with fraction walk

4 T L e __ | )
: Oonvert FDP 70 out of 100 |
This aso out 0
| 10— gy —> s > — -l i“;‘g i‘m :
| 100 70 - 100 70 “hundredths” O
|| Binga = 7 tenths’ |
| calculator 07 |
| M Be careful of recurring decimats |
B ——>[ 50 |wettoacmm m | -ga |
3 =4

| This wil gve. you the answer \A x 100 converts 1o a ~ |

_ , [} abo 3
Jleadstion ooy el ]
[ i S St et St e St e ek Bl Sy e S Y —
| Heywords :
: Fraction: how many parts of a whole we. have I
I Decimal: a number with a decimal poirt used to separate ones, tenths, hundredths etc I

Percentage: a proportion of awhole represented as a number between 0 and 100 |
| Place vabe: the numerical vaue that a digt has decided by its position in the number |
| Placeholder: a number that occupies a posttion to give vlue :
| Interval a range between two numbers I
| Terth: one whole spit into 10 equal parts I
| Hundreath: one whole spitt nto 100 equal parts |
| Sector: a part of a circle between two radius (often referred to as locking ke a piece of pie) |
| Recurring a decimal that repeats in a gven pattern |
_________________________________ i
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SUBJECT: pathe  @nhisto_maiths

UNIT: Solving Problems with Addition and Subtraction

ACHIEVE ASPIRE ENJOY
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60 people vsited the zoo one Salurday
MoMiNgG

A6 of them were adults 13 of the adull's
favourite. anmal wos an elephant. 24 of
the children’s favounte. anmal was an
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The, overdl tota }
60 peopk’ ]

_ Probabilties or stalements can
0 frequency tree is made. up from part-whole models be, taken from the completed
One prece of nformation leads to another ]

{rees
eg 34 chidren vsited the zoo ]
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} Tables and timetables Bus/ Tran timetobles Each column represerts a ourney, each
row represents the time the ‘bus” arrives
| Drstance. tables Harton | 1005 1045 130
Bridge | 1024 | 1106 | 1147 at that. location
onden Avlle | 1051 | 1133 | 1205 || TIME COLCUOLTIONS — se o rumber ne
21 Cardiff Ware mz 1202 1233

Ase | 302 177 | Belfast Tno-woy {ables

|
|
[ 493 | Glasgow
|
|

1 H T Wwhere rows and columns ntersect & the

| This shows the distance between H | HH qE 4+ autcome of that action

| Glasaow and London Tl

| 15 where ther row and column ntersects
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| Solve. proberms vith perimeter |
: Perimeter is the. length arond the outside of a polygon |

I
| &em § em (" The tringk has a peameter of 25em \ |
| Find the kength of x |
I |
| e Bom + Eom + xxem = Aoom |
| — l;DSOEJ':: leem + xem = A5em |
fiang oy =

: notation \ - 4 :
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